Factoring Polynomials

Factor out GCF
(including a
negative if the
first term is
negative)

How many terms
are there?

2 Terms

lefe;fence Difference Sum of \ = ~ = ~ C-;c;uBr;:g
> > 2+ b.
Squares? of Cubes? Cubes? ax*+bx+c Method
x*+bx+c .
[P = ===ttt - Perfect Square Trinomial? Multiply a and c.
| @ =b*=(a+b)(a-b) i . , e .
13 3 5 _ L (AxB)*=A"124B+B tha": m\.\lf;,:i’ Tu't-r; cear;d Find two numbers that
axb=(azx ((f+(1b+b ) | addFl):c{b multiply to a-c and add
oo ’ tob.
Use these numbers to
(x+ 1st#)(x + 2nd #) split up the middle
term, then use grouping
k ) \_ AN or the box method. )
Natural Numbers 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Perfect Squares 1 4 9 16 25 36 49 64 81 | 100 | 121 | 144 | 169 | 196 | 225
Perfect Cubes 1 8 27 64 | 125 | 216 | 343 | s12 | 729 | 1000
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Examples:
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14x% — 35x
Ix (2 ¥- 5\

Trinomial with a=1 (first term is just x2).

x% —7x +12

(- x-4)

Difference of Squares

x% —36
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